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DIRECTIONS

1.
Complete the information requested on the answer sheet:

PRINT every team member name on the “Name” line.

PRINT the name of the event “GLOBAL BUSINESS” on the “Subject” line.

PRINT the name of your chapter (school) in the space directed.

2.
All answers must be recorded on the answer sheet.  Only one answer sheet is needed
            per team.   Please do not write on the test booklet.   Scrap paper will be provided.  Team
            members may work collaboratively on the test.

3.
Read each question completely before answering.  With a No. 2, blacken in each choice completely on the answer sheet.  Do not make any other marks on the answer sheet or the scoring machine will reject it.

4.
Be sure to use a No. 2 pencil and completely erase any changes or stray marks.

5.
You will be given 60 minutes to complete this test.  You will be given a starting signal 
and a signal after 50 minutes have elapsed.
1. Support from the corporate world is crucial to the staging of the Olympic Games and the operations of every organization with the Olympic Movement.  Which company has not been a major sponsor of the games?
A. McDonald’s
B. Coca Cola
C. Visa
D. Hershey
2. The largest category of nonrenewable energy in use today is
A. Petroleum

B. Natural gas

C. Nuclear energy

D. Coal

3. Capitalism today is
A. Similar to the laissez-faire capitalism of the past

B. Evolutionary in that it has adjusted incrementally to the demands on it
C. Similar to the capitalism of the 1930’s that had little room for the elderly, ill or incapacitated

D. Very similar to the socialism of the 1930’s

4. According to the 2012 Forbes Billionaires List, who is the richest person?
A. Christy Walton & family, Wal-Mart
B. Warren Buffett, Berkshire Hathaway

C. Carlos Slim Helu, Telcom 

D. Bill Gates, Microsoft
5. Which digit never appears in any Nokia handset model number in Asia, because it is considered unlucky in many parts of Southeast/East Asia?
A. 4
B. 6
C. 7
D. 9
6. The population of most developing countries grows at a rate _______ the populations of industrialized countries.
A. Much faster than
B. Equal to

C. Slower than

D. Much slower than

7. England is a member of the European Union.  Its currency is the
A. Dollar
B. Mark
C. Pound
D. Euro
8. A country in ______________ often has no monetary system and may not be economically motivated.
A. Transition
B. Semi-development

C. Takeoff

D. Primitive equilibrium
9. An oil embargo
A. Drives up the price of oil, which eventually stimulates additional oil production

B. Causes a glut of oil in the same year

C. Leads to a state of subsistence in the oil-consuming nations

D. Discourages the search for and production of more oil

Questions 10-25.  Global Corporations - Select from the choices listed (A-E) that are most correctly associated with the statements below.
A.  Nokia

B.  Apple

C.  General Motors

     


D.  BP - British Petroleum

E.  SONY
10. The world’s largest digital camera manufacturer.

11. In 2012 this corporation reported revenue of $39 billion; just $1 billion shy of the revenue of Microsoft, Amazon, Google and Facebook combined.

12. A Japanese multinational conglomerate
13. Headquartered in London, England.
14. The first company to make $1 billion a year (in 1955).
15. A Finnish company.
16. A publicly held company with shares listed on 16 stock exchanges worldwide including Tokyo, New York, and London.
17. Founded in 1976.

18. Has been voted India’s most powerful brand no less than nine times; the company was voted India’s most trusted brand since 2008.

19. Largest foreign company traded on the US Stock Exchange.

20. Its logo is “Mark of Excellence.”
21. Credited with co-developing the CD, DVD, and Blu-ray disc formats.  The only company that is fully immersed in every link of the 3D value chain.
22. In 2012 this company was nearly twice as profitable as Mircosoft.
23. Delivered the largest amount of material to the allied forces during World War II.
24. A digital production powerhouse at the center of what is called a digital lifestyle—largely affecting the mobile computing and communications world.

25. Active in over 70 countries with first product discovery in 1908.

26. Which of the following provided interest-free loans to developing countries and guarantees to foreign investors, as well as conciliation and arbitration of disputes between foreign investors and host companies?
A. United Nations
B. World Bank Group
C. International Monetary Fund
D. International Reserve
27. To generate internal funds or savings, an economy must _______ more than it ________.
A. produce, exports
B. import, consumes
C. consume, produces
D. produce, consumes
28. The fundamental economic problem is
A. opportunity cost
B. scarcity
C. balance of trade 
D. entrepreneurship
29. What does promotion encompass?
A. Selling
B. Marketing
C. Advertising

D. Pre-Sales
30. The difference between a nation’s total exports and its total imports is called the?
A. Deficit
B. Exchange rate
C. Current assets
D. Balance of Trade
31. In international market, the existence of different legal systems makes the task of businesspeople more difficult.
A. True
B. False
32. Which institution extends finances to exporters of capital and manufactured goods?
A. ECGC
B. Export-Import Bank

C. SEBI

D. MCA

33. Which arrangement is one of the contractual entry modes in foreign countries?

A. Branching
B. Franchising

C. Subsidiary

D. Assembling

34. _________ is related to hiring and promoting employees on the basis of ability and experience without considering race or citizenship.
A. Discrimination

B. Monocentric

C. Ethnocentric

D. Geocentric

35. How does the product reach the buyer?
A. Advertising

B. Telemarketing

C. Distribution

D. Promotion
36. Which of the following are popular modes of entry into foreign markets?
A. Joint ventures

B. International licensing

C. Temporary agencies

D. Permanent agencies
37. In 1948, a specialized agency of the United Nations was created to handle international trade.  It was the 

A. General Agreement on Tariffs and Trade, GATT
B. International Trade Organization
C. Export-Import Bank

D. International Court of Justice
38. Opportunity Cost is the 
A. Tools, equipment, and factories used in the production of goods and services 
B. Condition that arises because society does not have enough resources to produce all the things people would like to have

C. Various combinations of goods and/or services an economy can produce when all productive resources are fully employed.

D. Cost of the next best alternative use of money, time, or resources when one choice is made rather than another.
39. The Olympics is a major global business venture, as well as the premier sporting event.  Which country won the most Summer Olympic Medals in 2012?
A. United States

B. Norway
C. England
D. China
40. The economic concept of _____ is the sum of those economic products that are tangible, scarce, useful, and transferable from one person to another.
A. Value
B. Utility

C. Scarcity

D. Wealth

41. Our most important renewable energy resource, accounting for half of the renewable energy consumed in the United States is
A. Biomass
B. Nuclear power

C. Solar energy

D. Hydroelectric power

42. What is the world’s most populous country?
A. India
B. China

C. Indonesia

D. Russia
43. A contractual form under which the initiating firm agrees to bring into operation a factory, mine, or other capital project, then manage it for a specified time period, and finally relinquish it to a host-country firm or government is

A. Turnkey venture

B. Franchising

C. Direct investment

D. Licensing

44. Which of the following produced the Blackberry?

A. HP
B. RIM
C. AIM
D. Apple
45. Which of the following is the second largest car seller in India?

A. BMW

B. Audi

C. Mercedes-Benz

D. Ford

46. Which of the following decided to buy London Metal Exchange?
A. Tokyo Stock Exchange
B. Hong Kong Stock Exchange
C. Toronto Stock Exchange
D. Korea Stock Exchange
47. The United States has had an embargo on imports from Cuba since

A. 1935

B. 1961

C. 1991

D. World War II

48. Campbell’s is used as an example to demonstrate how major corporations are moving in a true international global direction.  All of the following would be considered to be part of Campbell’s international strategy except
A. Stick to what you know

B. Adapt to local tastes

C. Customize all products and abandon any mass production strategy

D. Think and plan long term

49. From the marketing perspective, ___________ is always best.
A. Responsiveness

B. Fairness

C. Effort

D. Customization
50. Which of the following is conducted at the highest levels of management and deals with products, capital and research, and long- and short-term goals of the company?
A. Organizational planning

B. Strategic planning

C. Tactical planning

D. Functional planning

51. The Wexford Corporation is at the stage of international planning where specific budgets need to be devised for its various markets and plans.  In which state of the international planning process would you expect to see these activities?
A. Phase 1 – preliminary analysis and screening where company/country needs are matched

B. Phase 2 – adapting the marketing mix to target markets

C. Phase 3 -  developing the marketing plan

D. Phase 4 – implementation and control

52. In Australia, the preferred method of transportation is
A. Air 
B. Shipping
C. Over land
D. Rail
53. A large exhibition, generally held at the same place and same time periodically, at which companies maintain booths to promote the sale of their products is known as a
A. Trade fair
B. Trade exhibition
C. Commerce fair
D. Commerce exhibition 
54. The largest trading partner of the United States is
A. Mexico
B. Japan

C. Canada

D. China

55. The largest trading partner of the European Union is
A. Japan
B. China

C. Russia

D. United States

56. The chief export of France is
A. Wine
B. Machinery and transportation equipment
C. Cheese
D. Cosmetics

57. The United States former absolute advantage in producing oil drilling equipment is being challenged by
A. Great Britain

B. China

C. Japan

D. Kuwait
58. An arrangement in which one company allows another company to use its name, products, patents, brands, trademarks, raw materials, and/or production processes in exchange for a royalty is called
A. Licensing

B. A joint venture

C. Direct investment

D. Importing

59. Which country has become a global center for high-technology businesses in recent years?
A. China
B. India
C. Indonesia
D. Vietnam
60. Probably one of the most vexing problems for the newcomer to Latin America is
A. The laziness of the workers
B. The poor working conditions
C. The government corruption
D. The manana attitude
61. Pizza Hut  in Rzeszow, Poland sponsors the local city heritage dance competition.  This action is an example of Pizza Hut  trying to
A. Decrease delinquency in Rzeszow
B. Increase sales
C. Increase company morale
D. Establish a positive image within the city
62. Companies that want more control are willing to invest considerable resources in 
A. Licensing
B. Direct investments
C. Contract manufacturing
D. Exporting
63. Who arranges the shipping of goods to customers in other countries?
A. Customs officials
B. Freight forwarder
C. Free-trade zone representative
D. Government postal companies
64. Many countries in Asia, Africa, and South America
A. Have a high demand for nonessential products
B. Are industrialized nations
C. Are less-developed countries
D. Have relatively high per capita incomes
65. Which country is the largest country in Western Europe?
A. Germany

B. France

C. Spain
D. Italy
66. Historically, navigable waterways with connections to the ocean
A. Were unimportant to a nation’s economic development
B. Have permitted low cost-transportation of goods and people from a country’s coast to its interior
C. Needed to be supported by an extensive inland railway system
D. Needed to be supported by an extensive inland road system
67. Which act makes it illegal for companies to pay bribes to foreign officials, candidates, or political parties?

A. Patent Cooperation Treaty

B. Mutual Economic Assistance Act
C. Sherman Act
D. Foreign Corrupt Practices Act

68. Ecuador can obtain financial funding to purchase heavy equipment from a Canadian company through the

A. International Monetary Fund

B. Citicorp Bank

C. US Congress

D. Eximbank

69. One would cross the international date line if traveling directly from

A. North America to Asia
B. Asia to Europe

C. Europe to North America
D. Africa to South America
70. Before moving outside their own borders, companies must conduct
A. Internal audits

B. Language seminars

C. Environmental analyses

D. Joint ventures
71. When Colgate-Palmolive developed a hand-powered washing machine for households in LDCs that do not have electricity, Colgate-Palmolive was following a
A. Multinational strategy

B. Strategic alliance

C. Globalization strategy

D. Marketing strategy
72. When IBM and Apple joined together in hopes of obtaining a competitive advantage on a worldwide basis, this exemplified a
A. Cartel

B. Joint venture

C. Direct investment

D. Strategic alliance
73. Which country and “good morning” greeting is not paired correctly?
A. Italy – Buon Giorno
B. Japan - Ohayo
C. Mexico - Adios
D. Germany – Guten Morgen
74. Wendy’s, Pizza Hut, and McDonald’s are well-known _________ with international visibility.
A. Franchisers
B. Trading companies

C. Contract manufacturers
D. Strategic alliances

75. When the Vermont Trading Company of Burlington, Vermont sells teddy bears to a firm in Sweden, the Vermont Trading Company
A. Is increasing the trade deficit

B. Is importing the teddy bears

C. Has an absolute advantage

D. Is exporting the teddy bears

76. Which of the following is an example of a globalized product?
A. Different formulations of Hills Bros. Coffee in France, the United Kingdom, and Canada

B. Lever Brothers bar soaps tailored to different countries’ water conditions

C. American clothing, movies, and music

D. Colgate-Palmolive’s hand-powered washing machines for LDCs

77. How many nations abide by GATT rules?
A. About 50

B. More than 100

C. More than 300

D. Every nation is required to abide by GATT rules.

78. The highest level of international business involvement is the
A. Multinational corporation

B. Franchise

C. Contract manufacturer

D. Strategic alliance

79. Information technology is important because our global economy is
A. Computer based

B. Industrially based

C. Service based

D. Manufacturing based

80. Which is the world’s largest religious group?
A. Buddhism
B. Islam
C. Hinduism

D. Christianity
81. Google answers one billion questions from people around the globe in 181 countries and
A. 12 languages

B. 50 languages

C. 100 languages

D. 146 languages

82. Which of the following cultural practices is false?
A. In Saudi Arabia, men walking hand in hand is a sign of friendship.

B. A single female passenger using a taxi should sit in the front seat in Australia.

C. In Venezuela it is good practice to follow up morning appointments with an invitation to lunch.

D. In Hong Kong, it is impolite to refuse to drink (alcohol).

83. Searching the internet for statistics on a countries’ alcoholic consumption is an example of which internet use?
A. Information

B. Entertainment

C. E-business

D. Streaming video

84. Companies that transact business on the Internet are often called
A. dot-coms

B. e-business merchants

C. e-business retailers

D. e-commerce merchants

85. This occurs when domestic or international criminals obtain personal information that allows them to impersonate someone else in order to use their credit to obtain financial accounts and make purchases
A. Identity duplication

B. Compromise

C. Identity theft

D. Intellectual property theft

86. The Children’s Online Privacy Protection Act of 2000 regulates the online collection of personally identifiable information from children
A. Under age 10

B. Under age 13

C. Under age 16

D. Under age 18

87-91 Intercultural Competence.  Use True (A) or False (B) to identify whether each of the statements in questions 87-91 is True or False.





A. TRUE

B.  FALSE

87. Alcohol and pork are illegal in Saudi Arabia.
88. In Great Britain, businessmen are not as limited to colors and styles as women are, therefore, it is important for businesswomen to maintain a conservative image.
89. Short American businesswomen should wear high-heels in a business situation in order to reach the height of the Japanese businessman.
90. Punctuality is a necessity in Germany.
91. The colors of the Brazilian flag are yellow and green.  One should avoid wearing this combination in any fashion.
92. e-Bay is an example of the
A. Business-to-business market

B. Consumer-to-business market

C. Consumer-to-consumer market

D. Business-to-consumer market

93. Which act was passed to protect copyrighted materials on the internet?
A. Personal Property Act

B. Digital Copyright Act

C. Digital Millennium Copyright Act

D. Copyright Protection Act

94. The key ingredient in determining a countries standard of living is
A. Productivity

B. Internet use

C. Informational technology

D. Data

95. Differences in the importance of personal space are an example of which type of international trade barrier?
A. Political

B. Economic

C. Technological

D. Cultural

96. Actions society deems unethical are
A. Always illegal

B. Not necessarily illegal

C. Socially responsible

D. Illegal but socially responsible
97. Which of the following is an argument for social responsibility?
A. Being socially responsible gives businesses more power.
B. The government should bear the responsibility.

C. Businesses have the financial resources to help society.

D. It sidetracks managers from their primary objective.

98-100 – Prominent Businesswomen – Select one of the businesswomen listed below to answer questions 98 through 100.

A.  Suzie Orman

B.  Meg Whitman

C.  Peggy Guggenheim

D.  Anita Roddick

E.  Angela Merkel

98. British entrepreneur, environmentalist and Body Shop founder
99. Former CEO of the online auction website eBay
100. Personal finance author and media personality
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1. D
2. A

3. B

4. C

5. A

6. A

7. C

8. D

9. A

10. A

11. B

12. E

13. D

14. C

15. A

16. E

17. B

18. A

19. D

20. C

21. E

22. B

23. C

24. B

25. D

26. B

27. D

28. B

29. C

30. D

31. A

32. B

33. D

34. D

35. C

36. A

37. A

38. D

39. A
40. D

41. D

42. B

43. A

44. D

45. C

46. B

47. B

48. C

49. D

50. B

51. A

52. B

53. A

54. C

55. D

56. B

57. C

58. A

59. B

60. D

61. D

62. B

63. B
64. C

65. B

66. B

67. D

68. A

69. A

70. C

71. A

72. D

73. C

74. A

75. D

76. C

77. B

78. A

79. C

80. D

81. D

82. B

83. A

84. A

85. C

86. B

87. A

88. B

89. B

90. A

91. A

92. C

93. C

94. A

95. D

96. B

97. C

98. D

99. B

100. A

